
A1

I have two ________ in my bag.

Answer: ___________________

They bought five ________ at the souvenir shop.

Answer: ___________________

We saw three ________ at the ski resort.

Answer: ___________________

The hotel has four ________ for guests.

Answer: ___________________

She packed six ________ for the trip.

Answer: ___________________

There are seven ________ waiting at the bus stop.

Answer: ___________________

He brought eight ________ for the beach.

Answer: ___________________

The museum has nine ________ on display.

Answer: ___________________

We visited ten ________ during our sightseeing tour.

Answer: ___________________

They ate eleven ________ at the restaurant.

Answer: ___________________



Answers

I have two ________ in my bag.

Answer: books

They bought five ________ at the souvenir shop.

Answer: postcards

We saw three ________ at the ski resort.

Answer: mountains

The hotel has four ________ for guests.

Answer: rooms

She packed six ________ for the trip.

Answer: shirts

There are seven ________ waiting at the bus stop.

Answer: passengers

He brought eight ________ for the beach.

Answer: umbrellas

The museum has nine ________ on display.

Answer: paintings

We visited ten ________ during our sightseeing tour.

Answer: monuments

They ate eleven ________ at the restaurant.

Answer: burgers


